Angle Addition

HmiROT = 155, what are mZRQS and mZTOS?

Find the measure of angle ABD.

(Sx + 10)* / (2x = 5)*

- : 2 8 .

m<s TPQ = 90°
msQPS = Tx - 12
msSPR=5Bx+6

P R
Find the following:
Xz m<sTPR =
mZsQPS = m. SPR =

m.s QPR = msSPT =




Angle Bisector

Find x

26°
(5% +11)°

Find measure of angle PRS

PN (x + 40)°/ @

(3x — 20)°
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Ray BX bisects angle ABC

If mZABC mdx+16 and msCAX = 3x + 6, find the value of x.



Combination Problems
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4__. mLBDK = 3x + 4. miJDR = 5x 1
5. miBDJ =Ty + 2.miJDR = 2y + 7

6. masJDR= 3x+2
mi KD J= 4x-8
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Angle Pairs

For #1-6, use the figure at the right.
1.

2.

MName two acute vertical angles.

Name two obtuse vertical angles.

Name a linear pair.

Name two acute adjacent angles.

Name an angle complementary to < FKG .

Name an angle supplementaryto #FEG .

Use the figure at the right to answer each question.

10

11

12.

13.

14.

15.

. Name two acute vertical angles.
. Name two obtuse vertical angles.

Name a pair of adjacent angles

Name a linear pair.
Name a pair of complementary angles.

Name an angle supplementary to £ FGE




7. mi2 =57 g m<Ll =38 9. mib =22
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10. mL1l =65 1. ms2 =67 12. m/3=38
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mszl=x+ 10

13. m£L13 = 4x + 11, 14. m/2 = 4x — 26, 15. B
mszld =3x+ 1 mi3=3x+4 mL2 =3x+ 18
13/14 >< . \2 R
16. Mm4L6 = Tx — 24 17. mi4=2x -5 18. Z7 and 28 are
msT =5x + 14 mib = 4x — 13 complementary. £5=/8
and m/ 6 =29
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